

$$u'' - 2u' + 2u = e^{\delta} \sin \delta$$

$$x^2 - 2x + 2 = 0 \quad x = \frac{2 \pm \sqrt{4 - 8}}{2} = 1 \pm i$$

$$z'' - 2z' + 2z = e^{\delta + i\delta} \quad u = \operatorname{Im}(z)$$

SOLUZIONE DI TENTATIVO:  $z = \alpha \delta e^{(1+i)\delta}$

$$\begin{cases} z' = \alpha e^{(1+i)\delta} + \alpha \delta (1+i) e^{(1+i)\delta} \\ z'' = \alpha (1+i) e^{(1+i)\delta} + \alpha (1+i) e^{(1+i)\delta} + \alpha \delta (1+i)^2 e^{(1+i)\delta} = \end{cases}$$

$$= 2\alpha (1+i) e^{(1+i)\delta} + \alpha \delta (1+i)^2 e^{(1+i)\delta}$$

$$\leadsto 2\alpha (1+i) e^{(1+i)\delta} + \alpha \delta (1+i)^2 e^{(1+i)\delta} - 2\alpha e^{(1+i)\delta} - 2\alpha \delta (1+i) e^{(1+i)\delta} + 2\alpha \delta e^{(1+i)\delta} = -i e^{(1+i)\delta}$$

$$2\alpha + 2\alpha i + \alpha \delta (1-1+2i) - 2\alpha - 2\alpha \delta - 2\alpha \delta i + 2\alpha \delta - 1 = 0$$

$$2\alpha i - 1 = 0 \quad \alpha = \frac{1}{2i} = -\frac{1}{2}i$$

$$\begin{aligned} \leadsto z &= -\frac{1}{2}i \delta e^{(1+i)\delta} = -\frac{1}{2}i \delta e^{\delta} (\cos \delta + i \sin \delta) = \\ &= -\frac{1}{2} \delta e^{\delta} (i \cos \delta - \sin \delta) \end{aligned}$$

$$u = \operatorname{Im}(z) = -\frac{1}{2} \delta e^{\delta} \cos \delta$$